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BACHELOR OF ARTS EXAMINATION, 2019
(1st Year, 2nd Semester)

SANSKRIT (Honours)

Course : IV

[SANSKRIT DRAMA]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

1— EPÚF£FFÎFèFF=]+Î¶FáFPÛFP¶F ÎFF©=+õÜF Ò»FÛFF’W ùPõ¶FæF_¸FFÎ¶FXÑFõ»FFÑFÎFWÎF
P=k+ ÎFF©=+UÜFk ¶FF¶ÑFÜFb õFFPÍF¶Fk ÎFF©Ý=+FÞWµF ¶F¶õFÛFFõF¶FX PáF&ÜF¶FFÛFh—

6

E»FæFF
EPÚF£FFÎFèFF=]+Î¶FáFPÛFP¶F  ÎFF©=W+ ¼]æFFaõFõF: èFFÑFÛF]PááF&ÜF ¶FõÜF
ÎFF©=+UÜFk ¶FF¶ÑFÜFb õFÛFFõF¶FX PæF˜FFÜFa¶FFÛFh—

2— õFÒõF”k~ æÜFF&ÜFF =+FÜFFa : 4

ÛFFÎF]ðFUðF] =+»Fk æFF õÜFF¼õÜF àÑFõÜF õFkÚFæF:—
ÎF ÒÚFF¶FÞáFk ¡ÜFXP¶Fß¼WP¶F æFõF]ÍFF¶FáFF¶Fh——

E»FæFF
P˜F·FW PÎFæFWèÜF ÑFPÞ=+PáÑF¶FõF¸æFÜFX;FF
àÑFX˜˜FÜFWÎF ÛFÎFõFF PæFPÍFÎFF =_+¶FF ÎF]—
õ·FUÞ¶ÎFõF_PñÞÑFÞF ÒP¶FÚFFP¶F õFF ÛFW
ÍFF¶F]PæFaÚF]¶æFÛFÎF]P˜FÎ¶ÜF æFÑF]è˜F ¶FõÜFF:——
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3— õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ˜F ˜F¶æFFÞ: ÒèÎFF: õFÛFFÍFWÜFF:— 5

(=+) iÚFPæF¶FæÜFFÎFFk ÂFÞFPµF ÚFæFPÎ¶F õFæFa·F—j =+PõÛFÎFh ÒõF”W~
=W+ÎFW¼ÛF]ƒ¶FÛFh?

(&F) ÎF_ÑFFÜF EFÞµÜF=+F: =+U¼_èFk =+Þk ¼¼P¶F?

(;F) iEõFFÍF]¼èFUa &FáF] ¶F·FÚFæFFÎFh =+FèÜFÑF:j < =W+ÎF P=+ÛF»FaPÛF¼ÛF]ƒ¶FÛFh?

(fF) =+F ÎFFÛF iæFÎF¡ÜFX¶õÎFFj?

(‘~) ÛF_;FÜFFÜFF: ;F]µF¡FF¶Fk æFFƒÜFÂÜFWÎF PáF&ÜF¶FFÛFh—

(˜F) ¼Y¶ÜFY: ÙFÊæFYÞF: õF]ÞF: õFPÛFP¶FðF] =+FÚÜFFk PæF¡FÜFÛFh EFèFkõFÎ¶FW?

4— EÍFXPÎFP¼añWðF] ·FÜF: ÒèÎFF: õF]ÞP;FÞF õFÛFFÍFWÜFF:— 1×3=3

(=+) =+X ÎFFÛF EÛFF¶ÜF H¼ÜFÎFk ÑFÜFaæFõ»FFÑFPÜF¶F]k ÜF¶ÎFèFUáF EFõFU¶Fh?

(&F) ÛFùFõFWÎF G¶ÜFÎFWÎF ÎFFÛÎFF =+: ÑFPÞP˜F¶F EFõFU¶Fh?

(;F) P=k+ ÎFFÛF EFYðFÍFk ÜF¼h æFFõFæF¼¸FF EPÍF=k+ ;F]PÛ×+¶F]k ÜF¶ÎFèFUáFF
EFõFU¶Fh?

(fF) =W+ðFFk ÑF]ðÑFFµFFÛFPÍF=+˜FÜFÎFW ÑF¿FæF¶FU ˜FW©Uk æFFPÞ¶FæF¶FU?

5— EÍFXPáFP&F¶FWðF] ÒèÎFWðF] ÂÜFk õFkõ=_+¶FÚFFðFÜFF ÎFF;FÞUPáFPÑFÛFFPêF¶ÜF
õFÛFFÍFWÜFÛFh— 3×2=6

(=+) iP¼ñhÜFF õF]PÎFP‡FÑ¶F G¼FÎFUÛFFÜFaÑF]·F:—j

=+ÜFF =+¼F ˜F æFFƒÜFPÛF¼ÛFh Hƒ¶FÛFh? EFÜFaÑF]·F G¶ÜFÎFWÎF =+õÜF
ÙFXÍF:? 2½+.5=3
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(&F) i¼]ð=+Þk &FáæFùk =+ÞXPÛF, GÜFÛFPÑF ÎFFÛF JæFk ÛFÎ·FÜF¶FW—j

=+ÜFF =+PõÛFÎFh ÒõF”W~ Hƒ¶FPÛF¼ÛFh? GÜFPÛF¶ÜFÎFWÎF =+F õF[P˜F¶FF?
2½+.5=3

(;F) iÎF_ÑF: ÒFµFFÎFh õFÃõ¶ÜF¡FP¶F ÜFP¼ ¶FõÜFFÑÜF]ÑFÞÛF:j <

=W+ÎFXƒ¶Fk æÜFFƒÜFPÛF¼ÛFh? =+¼F JæFÛF]ƒ¶FÛFh? iHÑFÞÛF:j G¶ÜFõÜF
=+XN»Fa:? 1+1+1=3

6— i=+¸FFaÞ: õF]áFÚFF: áFX=W+ PæF£FF¶FFÞõ¶F] ¼]áFaÚFF:—

=+¼F =W+ÎF ˜FW¼ÛF]ƒ¶FÛFh? ÒõF”~PÎF¼WaèFÑF[æFa=k+ æFFƒÜFõÜFFõÜF ¶FF¶ÑFÜFb
õÑFñUP=e+ÜF¶FFÛFh— 1+1+4=6

E»FæFF

i¶FPõÛFÎFh õFæFaÛFÍFUÎFk Pù ÜF·FFÍFUÎFX ÎFÞFPÍFÑF:—j

=+XN·F æFƒ¶FF? õFÒõF”k~ ÑFmW~ÞõÜFF: æÜFF&ÜFF PæFÍFWÜFF— 1+5=6

–––––––––


